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1) Distinguish between top-down and bottom-up control of a population’s size. Use these concepts to describe the effects of the predator-prey interactions between the snowshoe hare and the Canadian lynx on the population of each species.
2) List the characteristics of (a) r-selected or opportunist species and (b) K-selected or competitor species and give two examples of each type.  Under what environmental conditions are you most likely to find (a) r-selected species and (b)K-selected species

3) What is conservation biology? What three questions does conservation biology try to answer? What are the three underlying principles of conservation biology? What is bioinformatics, and what is its importance?

4) Why do (a)biotic factors that regulate a population growth tend to depend on population density and (a) abiotic factors that regulate population tend to be independent of a populations density?

5) Suppose that because of disease or genetic defects from inbreeding, the wolves on Isle Royale die off. Should we (a) intervene and import new wolves to help control the moose populations or ( b) let the moose population grow until it exceeds its carrying capacity and suffers another population crash? Explain you answer using evidence from the text

6) Why are pest species likely to be extreme r-selected species? Why are many endangered species likely to be extreme K-selected species?

7) Predict the type of survivorship curve you would expect given descriptions of the following organisms.

a. This organism is an annual plant. It lives only 1 year. During that time, it sprouts, reaches maturity, produces many wind-dispersed seeds and dies

b. This organism is a mammal, It reaches maturity after 10 years, it bears one young every 2 years. The parents and the rest of the heard protect the young

8) Explain why a simplified ecosystem such as a cornfield usually is much more vulnerable to harm from insects and plant diseases than a more complex, natural ecosystems such as a grassland.
9) How has the human population generally been able to avoid environmental resistance factors that affect other populations? Is this likely to continue? Explain your answer.

